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1) 3312/, + 20/, 2) 20% of 166 3) A number is chosen at random from 1
to 75. Find the probability of selecting
prime number.

Answer: Answer: Answer:

4) 355 0f 76 5) 6) Simplify 68:70

'Name the type of angle.
Answer: Answer: Answer:

7) 28, -2, 8) 6319 - 6958 9)  $61.00 earning 9% compound interest
for 2 years.

Answer: Answer: Answer:
10) $61.00 earning 9% compound 11) 12) Convert thefollowing fractioninto a
interest for 2 years. mixed number: 79/,
A =67 B
Find the Angle at side B.
Answer: Answer: Answer:

13) Find the value of 'j' by completing the
square of the following equation: 2 +
10j + 16

Answer:

14) Find the value of 'j' by completing the
square of the following equation: 2 +
10j + 16

Answer:

15) 1000+ 100

Answer:
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16) Convert the following improper 17) Find perimeter of 18)  6804.3 - 4649.1
fraction 251Y/, . + 277/ into amixed square having each
number s side (s) equals 7974 cm
s
Answer: Answer: Answer:
19)  Findthemean of thefollowing set of dete: 20) Round 13.70765420 to 2 significant 21)
98, 0.8, 81 figures.
‘Name the type of angle.
Answer: Answer: Answer:

22) Find the percentage change from 300
to 195

Answer:

23) Find the percentage change from 300
to 195

Answer:

24) Round 0.89983777 to the nearest 100

Answer:

25)  $368.00 earning 8% compound
interest for 3 years.

26)  Round 14.07 to the nearest 10

27) Find the mean of the following set of data:

89,0.5,0.8, 24, 36,0.2,0.3,0.1,
94,0.7

Answer: Answer: Answer:
28) Anamount was decreased by 7% to 29) 30) Increase 12 by 1/3
$158.00. Find the original amount.
A=61 B
Find the Angle at side B.
Answer: Answer: Answer:
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31) Write1x 10° asanormal number.

32) /

33) 5510.8-1555.8

A B =58
Find the Angle at side A.
Answer: Answer: Answer:
34) A number was shared in the ratio 35) A number was shared in the ratio 36) Find perimeter of
40:4. The smaller share was 44. 40:4. The smaller share was 44. square having each
What was the total amount shared? What was the total amount shared? s side (s) equals 1641 ft
s
Answer: Answer: Answer:

T/

‘Name the type of angle.

38) Share 16 in theratio 1:3

39) Decrease 188.8 by 94%

Answer: Answer: Answer:
40) Pg-19%, 41) Round 20.68831701 to 7 decimal 42) Round 20.68831701 to 7 decimal
places. places.
Answer: Answer: Answer:
43) Round 20.68831701 to 7 decimal 44) b 45)  Anamount was decreased by 3% to
places. $48.00. Find the origina amount.
a o} c

Answer:

Measure angle boc

Answer:

Answer:
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46) Solve by factorising
?+12q+11=0

47) Solve by factorising
g2 +12q+11=0

Find Volume of

Answer:

Answer:

Cylinder
Answer: Answer: Answer:

49) Find the value of 's by completing 50) 5 o 51) Findthevaueof 'j' by completing the
the square of the following equation: 49 square of the following equation: 24
2+6s+9 8 +16

Answer: Answer: Answer:

52) Decrease141by Y/ 47 53) 86 x 10 54) 86 x 10

Answer: Answer: Answer:
55) Find perimeter of 56) 57) Share 69 in theratio 47:22
. . triangle s= 3313 ft
= 'Name the type of angle.
Answer: Answer: Answer:
58) 8687 + (-1721) 59) 60) (-75) x 44
Find the next three numbersin
the sequence
64,60,240,236,944,940,3760__,

Answer:
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61) Find the mean of the following set of data: 62) 63) Increase 359 by 66%
54, 0.7, 46, 0.3, 98, 95 Find Volume of
Cylinder
Answer: Answer: Answer:
64) Round 2.9059298 to 1 significant 65) 78000 + 1000 66) 36/g-371,¢
figures.
Answer: Answer: Answer:
67) 443 0f 215 68) 4145 of 215 69) A number was shared in theratio
87:72. The smaller share was 96.
What was the larger amount?
Answer: Answer: Answer:
1 - opd 2
_ 71) 1671+ 26%g 72) /44 Of 292
Find Volume of
Triangular Pyramid
Answer: Answer: Answer:
73) A number is chosen at random from 74)  Findthemean of thefollowing et of datax 75)

1 to 75. Find the probability of
selecting multiples of 17.

Answer:

63, 0.6,0.4,04,0.3,43,33,0

Answer:

/

'Name the type of angle.

Answer:
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76)  09:38 am To03:18 pm 77) 6, x 2714 78) Round 24.702975110924 to 5
significant figures.
Answer: Answer: Answer:

79) 8659 x 9921 80) 43x 10 81)

Find the next three numbersin

the sequence

16,12,24,20,40,36,72_, .
Answer: Answer: Answer:

82) 03:32 am To 01:46 pm 83) Convert the following improper 84) Convert the following improper
fraction 359, + 1019/, into a fraction 35%,, + 1019/, into a
mixed number mixed number

Answer: Answer: Answer:

85) 25x 10 86) 87) Factorise 3x2 + 14x + 11
Find the next three numbersin
the sequence
0112358 , .,

Answer: Answer: Answer:

88) 3839 + (-3488) 89) Round 26.37339 to 3 significant 90) Decrease 29.9 by 38%
figures.

Answer: Answer: Answer:
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91) Find perimeter of 92) 13/ x 4 93) Solvel4g?-2q-12=0
b rectangle having Round your solutionsto 1 decimal
sidesa=8299 cm place.
a and b =8166 cm
Answer: Answer: Answer:
94) Solvel4q?-2q-12=0 95) Decrease33by %/, 96) Find perimeter of
Round your solutionsto 1 decimal triangle
place. b ¢ a=2243ft,b=
l 2732 ft,
2 C = 4830ft
Answer: Answer: Answer:
97) Convert the following fraction into a 98) 21030.4 + 496 99) 2888 + 4738
mixed number: 7/,q
Answer: Answer: Answer:

100) Solve5f2-2f-10=0
Round your solutionsto 1 decimal
place.

Answer:

Total: /100
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1) 1188377,
8) -639

15) 10

22) -35%

29) 119

36) 6564t
43) 20688317
50) 7
57)1:68
64) 3

71) 1525

78) 24.703

85) 250
17,

92) 7V,

99) 7626

2)33.2

9) $72.47
16) 5359/,
23) -35%
30) 16

37) Obtuse
44) 70

51) (j + 4)2
58) 6966
65) 78
72)8

79) 85905939

86) 13,21,34,
93)g=1o0r-0.9
100)f=1.60r-1.2

3) Py

10) $72.47
17) 31896cm
24)0.9

31) 100000
38)4:12
45) $46.56
52) 138

59) 3756,15024,15020,
66) 2%/,
73) 445

80) 430

87) (3x + 11)(x + 1)
94)g=1o0r-0.9
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Answers:

46

11) 113

18) 2155.2
25) $463.57
32) 122

39) 11.328
46)g=-1lor-11
53) 860

60)

67) 20

74) 17.59

81) 68,136,132,

88) 351
95) 24

5) Straight
12) 72y,
19) 59.93
26) 14.1
33) 3955
40) 254
47)q=-lor-11
54) 860
61) 49

68) 20

75) Obtuse

82) 10 Hours 14
Mins

89) 26.4
96) 9805ft

b

|

ERA i
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6) 34: 35

13) (j +5)2-9

20) 14

27) 24.56

34) 484

41) 20.688317

48) 47783.624261101
55) 9939ft

62) 25446.900494077
69) 116

76) 05 Hours 40 Mins

83) 4682/, ¢,

90) 18,538
21
97) 221,
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7) 19%,

14) (j +5)2-9
21) Straight
28) $146.94
35) 484

42) 20.688317
49) (s+3)2
56) Straight
63) 595.94
70) 6882

77) 3355

84) 4682/, o

91) 32930cm
98) 42.4
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